. AR B f:R>R THUPR 2

-1, @ x ey
:LL |, sy 09 (of)(1-3)

1AM & -
;\Ej 2)-1
33 @) 0

2. TR a,a,,,,..., FAFOR SO0 H ol a,.a,.d,
%g.ﬂ%mﬂ a,:a, BIAE -

==
B =
@ T ¥ P T
3 AR ol el W @ | @
HH &
Em @1
bR 4

If Function f:R-R is such that

—1, when x rational
={ " . the value of
/) _.isguasoa_ then,

(fof )(1-4B) -

H1 @-
3\ @0
If a,,a,,a,,...., is in A.P. and 4,,a,,4,in GP. then

the value of a,:a, is -

-
|
Al

|

O}

CS)
|
-

K
|
"o

@

5
|
Q

~
|
£

@)

3
=

(4) None of the above

2z

If ﬂ is a pure imaginary number, then the value of
2

-3
_N_+N~_ s
3
0] 7 21
2 4
®3 @l
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.—‘n

AT SRR ¥ S= T__:uuim» ERI
ufefda B 8, 7@ B ORWR @

B (0]

(4) None of these

0.1

(3)[0.2]

@-r&..i & TR T} 9 He 28 &

X X
39 UR ¥ I a1 T 9eT B et a7 anT
H
(1)280 () 530
(3)678 @729

IARPT |3-4xp 9 FT B e &

R

4T 4 I T
I W s=,23) W a

(3) (—0,2)V[2,%)

R = (11,22, 02,21,

R ={(L1).(22)(23),3:2),(33) T wH Lk
I T

:;msaimﬁaﬂﬂﬁaw

\w\a:@.m R Joue W 8l

@) R AR,S TR qoudl W &
@ T A g T

such that
If function is defined as f:R=R
f= Hh.lwhww!mx zﬂ:..m:mnoﬁq
I+x

(nfo.n ) [0,1]
3)[0,2] (4) None of thesé

; nsion
If. number of terms are 28 in expd
H_um,fh‘w.zwo then sum of coefficient of all terms-

x X

(1)280 (2) 530
(3)678 4729

The solution set of inequality |3-4x 29 iS

-3
(1) ﬁé.wcu.sv @ ﬁ.a\Lcc.av

(3) (—==,2)VI2,™) (4) None of these
If R ={(11),(22),(12).(21).(3.3))

and R, ={(11),(22)(2.3),(3,2),(3,3)} are relation
onset S ={1,2,3} then which is false.

(1) R and R,are equivalence relation on S.
(2) R NR,, are equivalence relation on S.
(3) R' ~R," are equivalence relation on S.

(4) None of these

Kalam Academy, Sikar | Jaipur
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Ifthe difference of the roots of equation x? + gy +] <

is less than /5 , then the et of possible values of a is.

8. afe W@ X rax+1=0 m«ﬂﬂw_g@_ﬂd Js 8.
VI T a D AT A BT ey B

\\ )(33) v Q) () ) (33) 0 (32)

0= (4) (~0,-3) ?) (3=) @) (==-3)

9. TAB neNB RAT 3 gt e 107 - 9. Foreach neN,3.5" 42" is divisible by.
m19a D179 (119 @17

B3 )25 ¥ . 0%

10. (+a) TR F x qu1 & TONF WK &
10.  Ifthecoefficients x* and x’ are equal in the expansion

T a 1AM &rm |
of (3+ax)’, then the value of a will be
ns/7 2)9/7
ms/7 29/7
(7/9 “-9/7 —_— oy
=9/7
I R xy: A & e H HN __H“uc @ e
AR ’ 11. If x,y,z is unequal and |y »* 1+)’|=0, then the
z 2 1+7
) HqH B — LW
E M «WH ) value of xyz will be -
\_\o VT L % \&59
(/.u.u\/ v 3 (1 \
k - L& o i \9\
21 Krar \% ax 2w @1 *@Q\
G)-1 Ty @)-1 . U
¢P.v *
@) T & B T8 W\@& (4) None of these -
o~ 9= ;
0 o 2 33
& - 2
=
Kalam Academy, Sikar | Jaipur Page # 4

! .

. tem
12 k @ A B FA o R forg e |12 .:_oss_::avﬂoTa_:ﬂa.:Q.iEn__Enm“\_
R (k+1)x+8y=dk, ket (k+3)y=3k-1 1 of equations Afcieu:.witv = -
o +
%@NWIW| K= % .,.\.ﬁ has no solution is .Pﬂ)\t\f\.w?\\r\
« \f\hw kel T.,.\\IT.
(2 2)3 (2 @3
arf‘raﬁx\..a(l .\rﬁ
(3) 3 @1 TP (3)Infinite @1 @
s\\ﬂmMz -
13, TR Adxs BA P UE HoAr e g o | 13 If A is an inverse matrix of order 4x4, then | A ad]
| A”'adj A| TR & = is equal to -
(1) 14l () 4F ) 141 (2) 14f
34 @ |4r
\mw:__ @ |4f (3) 14F
14, Anangle o is divided into 4,B such that A-B=k

14, TH B g B VW A AT 4B YA & B
4Bk T tand:tanB=k:1, 7 sink TR E-—

m m&% ) ymsc
| 3) ﬂi (@) T A B T

15. h X &3 UF AP B UE @ RN W U@
R P R @ ST ST FAT o« AN B

&, a1 AR B S & -
hsinf hcosp
M cos f} —sinat @ cos § —cosa
_htnB _hotp
3 tanf§ —tana @) cot § —cota

% a

%

\@\ vy

A il

s Mt

and tanA:tanB=k:|, then sink are equal to-

k+1

A: lmsm Q2) |I|m_=m

k+1

3) KL sine (4) none of these

k+1

15. The angles of elevation of the top of a tower from the
foot and top of a house of h m high are o and B

respectively, then the height of the tower is -

hsin p hcos B
O cosf —sina @ cos B —cosa

htanp hcot B
&) tan - tana @) cot § —cota

o, T
ﬁﬁ( \A \m; Kalam Academy, Sikar | Jaipur
\\.

a2

| \v&%<\
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16. I R B & g qu dww O
(=33) T (3.3) 2 a g = am -

gd 10 @6

/\5 (0,4)

7. T R g A ety @ g oo v x=2
ﬂﬂ@ﬁ%ﬂﬁaﬂ.ﬂmﬂﬁ@ﬂaﬂw
G

(4)(0,8)

(1) T Y .

G () 5 & 3 78

18 AR ARATE A B g5t eI e A
fen S &, 7@ T -yt 1 oAl
T -

(hF+y =0
@) p=s*

() 2y-a* =0
(4) 2xy+a* =0

19. e FERT Py +2g+2f+1=0 B @

™ &1 qhaw g, al —
\3:%1 @) g'- =1
Q) f1+g’=1/2 @) f1-g'=1

z 0
@ﬁ\x O\F\f QW\K\,

&\ \ mﬁ»

19.

—
If the orthocentres and centeriod of a triangle gy,

(-3,5) and (3,3) respectively, then its circumcentr,

will be -
(.2 @62
3) 0.4 403

If the sum of the distance of a point from the origip

and the distance from the line x =2 is always 4, then

its locus is
(1) straight line (2) circle
(3) Parabola (4) None of these

If revolve real axis with 45° in positive direction then

new equation of ¥ -)* =a’
(1) @+ =0

(2) xy=d

(3) 2xy-a*=0

4) 2xy+a* =0

If equation x*+y*+2gx+2f+1=0 is the equation
of a pair of lines, then-
() f1+g'=1 @ g-st=1

() f+g*=1/2 @ r-g'=1

Kalam Academy, Sikar | Jaipur
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b e

l\llll\
0, afy  qT A +y+dxtllyse=0, 4

A4yt -bx+dy-d=0 @ IR 31wl
ST 8, A crd WRE -

(1) 50 ()40

) 10 (\&._o
51, @ QAR y=pr+p’ 1 fafma &t 21

(1) 4y’ +27x* =0 (2) 43427y’ =0

(3) 4274 =0 (4) 42 +27y* =0

2. IR WA y =dax B P MY W B QA
TS 3 T 5 8, O o BIAN & -

(1158 @154

(3)1512 @15

3. o frd Waerd @1 S Td TR x9N W
g ¥ o 7 o B G W Rom & & sw
BT & -

(1) ¥ =4a-a)x-0) (4 A
() V' =4a'-a)(x+a)
(3) y' =4a'-a)(x-a)
() ¥ =4(@"+a)(x-a)
\%\x\\,,}ﬁ

20.

21.

22,

23

\

152

; the
cts
If circle £+y'+2c+llye=0, D% .
circumference of circle x* + y* —6x +ay-d ="
c+d isequalto-
(1)50 (2)40
()10 4)-10
: n:ZN—
Is a singular solution to the differ
equation y = px+p’.
(1) 4y° #2757 =0 @) ax*+27y° =0
(3) 4y’ =212 =0 @) 4x +27y" =0
la
If two intercepts of a focal chord of the parabo

¥t =4ax are 3 and 5, then the value of a is -

(1)15/8 (2)15/4
@15

If the vertex and focii of a parabola lie on the x-axis at
a distance of a and a' from the origin, then its equation

5
(1) y* = 4a-aXx-0)
() ' =4a'-a)(x+a)
(3) ¥ =4(a-a)(x-a)

@) ¥ =4(a'+ a)(x-a)

Kalam Academy, Sikar | Jaipur
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—_—

U IR 3 B v s B
I & -

2. @) 243

G4 @)473

5. ofe w=d, @ ax+by(a>0,b>0) ﬂ_r\\\\\mﬁ
- N

- );ﬂ v,
wrl\\w. —
(1) evab Q) -clab
&
(3) 2cvab @) 2Vab

6. R B f(x)=k-9x +9r+3 TRF IS

o

-

(1 k<3 Q) k<3

o

4 k>3 / IR\

i/.—\
2. [tan(sin"x)dx AR & — W.\v«
=

(3) k>3

1
A:,\U.I Q) _W.—‘u:
()78 1-x* +¢ ¢ vﬁlau:.

23 +3
28. _.llm.u n_omﬁi_w

e

24, The eccentricity of the conjugate hyperbola of

hyperbola «* -3)" =1 is-

()2 ) 2/\3
(3)4 )43
25, If xy=c, then the minimum  value of
ax+by(a>0,b>0)-
(1) evab R
(3) 2cVab (4) ~2¢Jab

2. If the function f(x)=k’-9x"+9x+3 g

monotonically increasing in each interval, then -
(1) k<3 () k<3

() k>3 @ k23

27. _‘ tan(sin~'x)dx is equal to -

) Fe 0 ="
AwVI _IHN+A. ﬁhv _Ikm+n
2743
8 =T

dx = x+1 X
?f:?“iv Eomﬁ _u;ﬁ. '“4¢ then

2

1 2 ;

(a,b) is equal

(a,6) STEX 8- u\1.ﬂ>
1l 1y
11 11 ﬁ:h w @ ﬁN_L

o) el

() (-11) @) (1,-1)
(3) (-11) @) (1-1) W

A A
Kalam Academy, Sikar | Jaipur .<\.“\ 37 Page #8
N

—

\E B W & -
:ﬂniguv

_ _lxrwan.vasbu*;
(1) ~(secx+ann)” 11 7

_
e %ﬁmum?m?su& * »

~

3 |Am\nMx\+_m|=Mm:ﬂ* _+ nmoniu:avw

~

_ Pwnoiw:x * »
) %TJ i V

_omhi_g n
30. R N_n_\\lw qn T__oﬁse%

0 1+¢ —
1,41, TR E - L
—
£
th w_omm ‘§ ﬁ U—omN
(3) nlog2 (4) - log2
1,1 1 L T
31 wﬁﬁﬁm+=n+_+==+m+....+=w w

(1) tog(8/) &swﬁ &\

(2) log(a/b) .J)\
\t\ L
2) log(ab) na (3) loga -
() loga 9ﬂ’>€ (4) logh et M\
B
(4) logh #w—»r L\\\
. JEaeN RS —

Aty e | N\
N LN NI :

" sec’x _

29. .—Axna.fusis sl 0~

L (L L) o
0 ..:uoa.:n:uv__;: (sect @

_ _ »
\Illlul sn:wnl *
2) Am.u.uk‘..z:;v:‘; A

_ __ :~ w
3) - \Awnna..yzsnv:a* ..mAuon.vE:kv +

_ __ u+»
“ \Iﬁanigl&l_s *ﬂ.fm?n?s:xv *

_cmh:_u .; u
. r
30. If ~_u_lﬂ|& and I,= .Tomm:_u__

I+, is equal to -

M ﬁ u_omn

V) ﬁ v_omu

(1) log(b/a)

ﬂ\r :

then

(3) wlog2 (4) -m log2
11 1 ;.
im| — oot — 1to-
3L E—Han+=n+_+an+m nb s N

Kalam Academy, Sikar | Jaipur
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“ y B .» el 32, The value of _M__HNWE i5-
! 3
o ‘Wzﬂ ,
x - T
:U 3 HNV in f'V Cv M ANV 4n
52,
n - n
= iha! 4 —
37 @t gr\\ Ok @3
¥ 33, Th bounded by curves y=log,xand
B T yelog, T y=(log, x)" gRT fiR & @1 ) Esh .o._ "
85d 2 y=(log,x) is-
(1) 3-e 2) 2-0 (1) 3-e (2) 2-e
1
3) e- 4) —(e-3
) e-4 SVWAT: (3) e-4 :NA )
Mo T y=x T y=x' & 7 o1 dawa & -
34, The area befween curves y=x and y=x’ is -
(1) 1/4
(1) 1/4
2) 112
@11
3)173
3)173
@1 41
3. FQ abe T .\|\\\\Jm:_m_m W gar Wiew ¥ fh 35. If a,bc is a non-coplanar unit vector ‘such that
b+c g
x(bxe)=— b
wip 2 A a 3R b 3T 76 T R nx?xalm then the angle between a and b is -
A uis @ 212 () /4 @ n 2
(3)3r/4 @n (3)3n/4 @ n
e
acblacl —a bl
N 2o v
. N@ 5 %P:dvuw\ otoJ\vﬁ
(P 5 Kalam Academy, Sikar | Jaipur

&) \Mors \,mv

(ason—
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R

36.

aft apco ®E IR fg @

_lemm;ni?g%_ = k(AMBC 1 8%

dqq &k w1 AF B
M1
22

@3

X

37

38.

39.

af 2 gard W o A A gaE e @, @
ST oFaR P AT B —

(1)2 @2

31 n\aa

Iy 2i+3j-2k AT i+2j+k T IR A

%%ﬁ%ﬁ%ﬂaﬁwmﬂ
P T 8 -

(1) 35,435 P RTRYT

() V3.1 @ 3T QB T

ofe el Bget & i 4,8.C m«@a%
FA 50 B, TN G TH S @, al
Gi+GB+GC AR & —

9 WA_.:T&

“0

36.

37.

38.

\

39.

en
pointss th

If ABcC,D is any four

)
lllll of ABC
_éx%;ni?éx%_ = k (area

then value of k is.
()1
2)2
33

(44

; . it vectol,
If the sum of two unit vectors 1S also a unt

then the modulus of their difference will be -

2 @2
©)! @3

If 2i+3j-2k and i +2j+k denote the adjacent sides
of a parallelogram, then the length of its diagonal is -

(1) 35,435 @) Ji,
() J35,11 (4) none of these

If the position vectors of the vertex A, B,C of a triangle

are 4,5,z respectively and G is its centroid, then

GA N.+Qn._mon§_8.
Lo =
?) m?+v +nv.

@0

Kalam Academy, Sikar | Jaipur
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,/ >
e & rGi-j+k)= T rg+dj-24)=2 @ | 40. The line of intersection of plancs r.(3i-j+k)=1 anq
ST Y iy RY B R 2 - 1 (i+4j-2%)=2 is parallel to which vector?
D 20475134 @) 2047j41% (1) 2i+7j-13 (2) 247/ +13%
() -2i+7j+13% 45 <21 (3) =2i+7j+13k (4) -2i+7j-13k
A3 ] i lines
a1 XT3t S (TP pRy— 41, The shortest distance between li
=(1-p)i -
m“ (=R)i+@u=njs (us2)t 3 dm g T8 r=(A=1)i+(A+1)j-(h+1)k and
r=(1-p)i+@u-1)j+(p+2)k is -
M 572 @ 5743
(1) 572 @) si\2
@13 @ s/
3
(3)15 @) 53
2. g (1,-59) B FTH s
St & R %5‘.%. =3 ﬂmﬂﬂ@mﬂ 42.  Thedistance of point (1,-5,9) fromplane x-y+z=5
xX=y=z o
TR # measured in the direction of line x=y =z is-
sl @ 103 (1) 340 @ 103
10 20 10
(€) Ry 4 = 1 20
V3 @3 ®F @3
4, _nud Al_.lu.|_cv & Yar %H%nﬂ - 43.  The distance of point Al_.lm.l_s from the point of
. 4 . x-2 -
WA x-y+z=5 B URIET g & g0 & — inersetion o e *5==202- 22 and plane
x-y+z=5 will be-
(1)10
_ n1o
(2)8
()8
o2 )21
@13 4)13
Kalam Academy, Sikar | Jaipur Page # 12

I

i = —4n+]
44, TR A=fxx 9T W & T x=dns 44, If A={xx is a prime number such that * -
empty S¥
yenss) T A D REE ST B e &7 and 2555 then the pumber of P00
of Ais?
@15
e (1) 16 @15
4)3
(3)4 @ (3)4 3
45. TP Wum+unome +4sin0 YRIT Hvar @ 45 ;mn:.? muruno%._.::_m is represent.
* r
(1) TRaETE (2) Qeiga (1) parabola (2) Ellipes
(3) JfToaeT (4) WA Xl (3) hyperbola (4)straight line
; O If
46, TR aay,0,.. TR A B U R AR 4. If a6 is the term of an A
as
a+a,+..+t8, p ag Enh,wuaa the value of 18
a,+a .y lﬁ;ﬁnq 9 ag 1A & G+ +..d, g e o
1113 @56 (113 (2)5:6
3)9:11 4)25:36
@9:11 (4)25:36 @ @
. : . ds of five lett be formed by
47. - AADH ) Es.m_ww SR T T T 47. How many words of five letters can
o mﬂm&mﬂaﬂw e T T 2 choosing different letters in AADHARKALAM.
(1)2520 (2) 5040 G323 (5040
(3) 7080 (4) 3640
(3) 7080 (4) 3640
. . 48. If the words made from ‘SUCCESS’ are written like
48. ‘SUCCESS’ ¥ &9 Il & 3fiioh 1= ®ier @ R , .
fr 3 an English dictionary, then at which place will
s * PAY WM W
e SVECEss SR ‘SUCCESS’ come?
g (o @331 (1330 @331
P JN -
9 29 (4)332 (3)329 (4)332
i sl n
J 2 L
Wb M« . -
Lo K10 A A « O x(xgKalam Academy, Sikar | Jaipur (10 X W TLIF Page # 13
sow
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.,/ |l|‘|\\|\|l’l’
49, (144 V) @ rar 3 o # | 49, coeflicients of " in the expansion of (142 -¢ v.n
(476 (2)49% (1) 476 (2)496
(3) 506 @528 (3) 506 (4528
; % 50. The sum of rational terms in the expansion of
;|2 LL : :
o (55T semtammmorn |
£, T. +3 s,
x\ )
197 285 (o
& C (197 )85
H7 -
3 @) T A 3 T8 R (4) none of these
. It REey lnnom - 4m=.”.n =1 GApAWV 3 fre 51.  Which is independent from a in hyperbola
H¥PH o ﬂﬂdﬂm—w_ oow.plmhllnl_ ?AQAI:
(e (1) eccentricity
(@) TR 1 gt (2) the abscissa of the foci
(3 Fram (3) Directrix
@ i (4) Vertex
%
S2. »,\|+\f\q 0 T — @AM B 52. If xJi-y+yJi+x=0 thenthe value %M«N is
1 1
M oy ?u?é ONTIEE
Jﬂ/\mv& - w JFS 2
oy~ SR -
@ ey NIl Y
QAD '
- ‘ 1
_ ! JN\-u) X W/S 3) ~ 2
®) ey ne \\..._\Q.v/ ; ©) "(142) ;
~ 2
) - ,oy‘ @ (142
@ 12y W oib?

Kalam Academy, Sikar | Jaipur
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g

53.

55.

56.

\\u\\
brsinx=5_y oo
_._.ﬁnoqu:.« sinx— -k vmﬂ —
.
3 I
M 2 @35
5
@ - @ -5
54, 3 gt 71 e et/ (x 7:_1 ST
& e
DR QR
(3) & @R
TP x=r+3-8,y=20-2-5 B Y (2-) W
et Y ) g &7
22 6
ks @5
3
(3)-6 @3
[yt (2] g &
gfe y=tan T&Liﬁ T-L w2
LICEE
1 1
M Iw @) T2
5
@) 3-2x Q) 14252

\

53.

54.

55.

56.

of k

inx- y lue
_ﬁnoo: +w.=_=a 5.k (finite) then the va

is-

5 7
()] 2% 2) b7l
@) - @)

le.

Theset of points where /(¥)= 7= _ is differentiablé
(DR @R
3) R @R
The slope of the tangent 10 curve

x=1+31-8, y=2r -21-5 at point (2-1) is?

22 6
= @3
3
(3)-6 @3
|g-_ﬁ 4x uiﬁ_._hufﬁu _ dy
Ifry= 1752 3-2x then value o i
is.
1 1
Q) 1+5x¢° @ 1+25x
5
“) 1+25x

- Kalam Academy, Sikar | Jaipur
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—_ e
57 Saed g O 57, 1s the solution of the differential equation,
p Wﬂ ﬂ.«.—_om.—.l_cw.ﬂ.v; & &dA
W_ amu._.:om._f_om.qi_
(1) y=e®
(1) y=e"
(2) x=ye" @) gept
(3) ¥y =xe” (3) y=xe”
TC y=xe'" AA& y= xe
58. 120 VI Wt § @ @ ¥ mﬂﬂ 58. A number is chosen at random from 120 natural
. ¢ ili the selected number i
i ® | Tafig RGBT 5 a7 45 T 2 B numbers. The probability that the selected number 1s
TR & a multiple of 5 or 15 is.
| OF 05
- 1 5 8
M 5 ) : 5 8
1 1
1 | @ @3
5 @ 5
59. AADHAR V1€ 9 99 el & fpery wiedi & i A
TF W A A TR 3 59.  In the words formed from AADHAR word, in how
many words all the three A are likely to come together.
(1)33% .
1)33%
(2)25%
2)25%
(3)40 % (3)40%
(4)20% (4)20%
X
o/
W, —O ] - / 10 \J\o
( \ Y A\.V
\R 1 wy o @ @ o 2 e
V) s 91
%l ( ( f/\
[ '  Kalam Academy, Sikar | Jaipur

G

I

g0, gy @ B Y WA A F B Y
e%w_
(1) ¥
(2) T faaer

()7 famer

Ay R

6. AR A RS AF0,1,2......n B TR
AL ney,h, e, B Wg ey

'’ o
2_1 v
O vy @

62. dﬂalw& Ll &uw BT HE B —

(1) 120 ,\& 140

(3) 160 (4)125

63. TR TG f(x)=x'-Sx+k B LIS o AU B
THIGR 2 6 a-p=1 T & AW &}

f\a 6 )4

60.

61.

62.

63.

ted bY
Which measure of dispersion is least affec

extreme values?
(1)Range

(2) quartile deviation
(3) mean deviation

(4) standard deviation

If the frequencies of the value 0, 1, 2.+ n

ney, -1, respectively, then the mean will be

1

M3 @5
n' - 2

® _N_ @

1 .
Rmeuu Gnnﬁnér_mamn.nﬂ -

(N 120 (2) 140
(3) 160 (4) 125

If « and B are the zeroes of the polynomial
f(x)=x"-5x+k suchthat a -f =1 then the value
of  is.

(1)6 (2)4
(3)3 @90 0 A h. . 3)3 (O
<AR 7
a LM = .r.,\
N3l ¢ 2=
.‘Q\-\.h\f..r @ﬁl\i@ - \
£ ¥f) \m - Kalam Academy, Sikar | Jaipur
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65.

ﬂm Ag H’fl_l‘.l_ =2
| - = du1 w90
ana...zm.:..._vano & N .
= . B g § e cosh
22
s LB 3
3 AT ES R L xS
ne =~ yv
oo s & 5- S5
(I -< 3
3 ) 1=
.La
3

»‘,,-ua.vn mmam u.lhau.fn. ﬁaﬂuﬁﬁdwmu
a p+g F AN &

w7 @7

by

RIEL Ty X 57 -16x+80=0 mv_ﬂm_._ 2

(3)-9

-2
"2 20dplay,

y=l

x+l

—_—=

1 2

g4, Iftheangleberween line

- . INI\M
2r-yyhz+4=0150 where cosd Tt
vlaue of 4 is

3

“ -—
-3 @7y
: s
63 @3

65. If 2 —3¢+2 is a factor of the polynomial , then ¢h

value of p+4 is
m7 @-7

3)-9 @9

66. If the sum of two roots of equation

TTHe T & qa g
= @ o X =5x* —16x+80=0 is zero, then all the roots of the
(1)5,-5,4 equation will be.
(2)4,4,5 (1)5,-5,4
(3)6,6,5 @443
(3)6,-6,5
(4)3,-3,4
T 20
LY 3,3,4
L \\_.\\/.‘».r
W 5).«.\##5«.&
RN . s e \
v -~ “=f\
N L T i e A
o-aMat=e 7 T2 r I

Kalam Academy, Sikar | Jaipur
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1\‘\\“‘

\

ough vomanm

o7, Fg (100), 010, 00.) TR TABE R | 67, The radius ofsmallest sphere passing 1"
wie 5@% b L (1,0,0), (0,1,0), (0,0,1)
Vg S vo\.\/ *
(1) y2/3 9 ) 273 .
=
(223 (2) 2/3
| i &
| CS\\M @3
@ ERuA! g e (4) None of these
: . . ximum wnm
68. |z-2i+1<3 T9 |z+3-2i| P Jftrpam 7 rem | 68 |z-2i+1}s3 then difference between M
4 P 3 & 4\3.\\5? minimum value of |z+3-2i]
(1) 3T T (1) prime number
: (2) even number
@) & e
(3) odd number
() faw &
(4) complex number
(4) afens g@m
; i is Abeli
6. 1T g BT el S e S & 69. 1 Every subgroup of an Abelian group is Abelian.
11 TR g T T SR Rt ) 11 Every subgroup of an Abelian group is normal
_ B 2 & = “ subgroup.
|
, 1 FRA g BT IS S Thid T Il Every subgroup of an Abelian group will be a cyclic
AR WETE - group.“then which is true
.I\l\l\\\
(LI @) 1L, Il ()L 1, m @)1, 11
| @Lm /\3 @)L m @LI
h
Kalam Academy, Sikar | Jaipur Page #19



|

70 50 mﬂ. .
mw,a_ LT —— divided by 7, what il be the remaindery \\M
73, % e [13] ® R wem 73. If the function defined on the interval [
n2 : em for
()2 o ,\. satisfies the Rolle theor
m/ _J6 ) b 243 +1
a N ) 04 f(x)=# 65" +ax+be="5= B fort ¥t s f(3)=2 =62 E;?R,wh then
e Sca\a,r 1 € I & T ¢
% 6 — 7 *
3)6 Mﬂﬂ & \-b¥x2 oA 1) a=11,b=6
5 (1) a=11b=6 = Pfab
.,Mm\.rmﬂv 3 " () a=1Lb=6
Abvu AthH:.leo —Sxadh =-T
. £psab (3) a=11,b=8
71. MR . . .. 3) a=11b=8 L= L
I = P 71, The decimal form of a number without ratio is () a=11,
WMo éw_ L e (4) all of the above
(DERNEHE TRERT g (1) non terminating and repetitive | %ﬂ@mﬂ - ﬂ&/v
(2) 9 IR T TR 3feq (2) terminating and without repetition ) 74, T qoie B T 3 T AW 74. The form of the square of an integer will be
(3) 3 <A & (3) non terminating and without repetition ﬂ () 3kt TP i@ § (1) Only 3k.k is an integer.
) texminatin Q)T k+1k T Qi & (2) Only 3k +1,k is an integer.
(4) 3 g o E |
H (3) 3k I 3k+1,k TH TP B (3) 3k or 3k+1k is an integer.
3 ,,
T2, b Z=-——
a ~+%aa B Thvera & THE . A 4) 3k+2,k ﬁﬂsﬁw_ (4) 3k+2,k is an integer.
72. The lengthoflatus rectumof curve — |1W+ L cost ;
. 4 | "
:vw . { 75. AR (1+x3) =cy+ex+ex’ +otex’, a@ 75. M (1+x) = tex+en +on+cx’s then
1
(1)~ :
o 4 ” 00 Gy HEy8y +ont i, TR $ o GO HaG e, is equal to -
E
2)2 4
u 2 “ 2n F 2\n
3)4 (3)4 1) _A=~+& O ;__ +&
4)8
@ @3 P 0 2
@ a0 |ntl|n=1
|2n
L £ 120 G
(AN ® w1 e
6= ' 2|n
- @ 2 @ a1iaa
5?5%»%5. Sikar | Jaipur L=
Page # 20 Kalam Academy, Sikar | Jaipur
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& —

Lo .  cerios | — - ¢
T e ﬂ_.@mad r, Mgz ; | 76. Ifthe common ratio ofa geometriC SEries IS, the | 5 Ry for it o 10 9, By — Pt ibe erafiedbuielenion ol ? square 0
FUT 5 ¥ ; 79, gi
W 9% g last term s / and the sum of the terms is , then the gAwe I B | . o
side 10 cm in the given figure.
(1) Ir+(r-1)s first term will be. A
|
Q) ri~(r-1)s (1) Ir+(r=1)s w
,
2) rl-(r-1 ,
() re=(r-1)s @) ri=(r-1)s |
400 500
v @) rs=(r-1)s - 400 500 1) —cm’ @) =—cm
) rs+(r-1)1 = @ =em 0= 7
(4) rs+(r-1)1 600 800
- 600 800 , @) —em’ (4) ——cm
- —em’ 4) — 7 7
77. aﬂ%%ﬁ.ﬁ%mﬁuﬂugﬂﬂwaﬂ 77. acube make in side and out side of a sphere then @. 7" :; o
T B9 B IR @ ST ; ratio of valume both cube will be.
™ ﬁ_ : g @ . G B TEE O apc 21 fg | 0. 1f ABC is Equiateral triangle of side Two €™
(1 3:3/1 2 1:353 (1) 3:301 @ 1:353 4,B,C B Bw AFD 1 W B I @9 =g Taking point 4,B,C as centre, three arcs of ra-
3 : TR o &1 i A g B @ e dius 1 cm are drawn, The area enclosed by all the
() 3:353 @ 3155 (3)3:33 @) 3:183 U - . T
. e three arcs inside the triangle will be in cm.
8. T AN .
ﬂ.mmaw - Equﬁ ﬂﬂ@ﬂ“ TR 9. & 78.  Two cones of radii , and r, and of equal height ) T.\. -Wu M T,\m |mu
= 2
w0 § qRaffq Eﬂ“ﬂ Q._M._ N ﬂ@ %M:J_w# b are melted to form a solid sphere of radius R.
T | 2 s Find the height of the cones. I In
~ o) Tm |Mu ® Tw -Mu
H\ﬂﬁ? " ..j
3 A ot 5
Ln W 4R Tw-mu
S =%t 077 ) Tw-& ® (V33
o
2
NEal) b8
= x @ |5~V3
@7 W Cleyw: @ T- ,ﬂ -
4R 4R
3) " (©) nr
R R
©) I @ i
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Bl. 3R T 3 91 Sy g , oSl aTel AT

T TR @ 2t @ ot am
oﬁﬂmmgﬂ”

(1) EEU
auf)
sl

n).m
(4) aoﬁh.l.u. =

82 79 % W qu ?

ENE] ENE

==

(15 P TF B 5o U
Q) ?u:.....:.n_.xV
(3) (G ={L,-1,i,~i},x)
(4) fawm ife a1 wds qu
8. 9= o # WfhAT « TH UPR &

ab

a-vululs__omm. a9 AdId 4+ PI U e
WHEL
9 2 x
(1) i @3

8
T 3

81. If the perimeter of a circle is equal to that of a
consecutive polygon of n sides, then what will be

the ratio of their areas:

u.n .
i)

= | A

n
ANV cos M

ﬁ
h

= |A

(3) sin

)
)

= | A
ERE]

@) S_TLH

==

82.  Which of the following is a simple group?
(1) Each group up to order of 5.
) (6={Lww)x)
(3) (G =1{L,-1,i,-i},x)
(4) Every group of odd order.
83. Theoperation = onset Q" is such that

ab

a*b uﬂg.u €@’ is then the inverse of element

4*61s.
2
3 ®3
3 9
o3 @5

A = &\ , Kalam Academy, Sikar | Jaipur
@ #

g —

a
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- —

g4, IaYH G A ST AT W Smna @
f5 Te1 @ wefdfa far o @

(1) R B §
) fom were A
%.ﬁﬁﬁﬂn
(4) T W BIE T
85. AR xyzeR u=x+y+zy=xi+y +2 T
w=yz+zx+xy A gradu, gradv IR gradw |
(1) fead (2) T
(3) TR (@) T A T T

1 1 1

8. A ot 3

log2 log3 log4

/\3%@@

(2) JTERT

b
e

(3) 3

(@) ufoafe e

\o__%_sm
84. Interpolation formula is based 00 the
basic assumption that Data is show? that.

(1) In linear function
(2) in quadratic function
(3) In polynomial function
(4) none of these
85. Ifx,yzeR u=x+y+zv=x'+y +z and
w=yz+z+xy then gradu, gradv and gradw aré
(1) Orthogonal (2) planar
(3) collinear

(4) none of these

1 1 1

jeg ——+——F—— o |
86. The series log2 " log3 " logd is.

(1) convergent
(2) Divergent
(3) Oscillatory

(4) conditional convergence

Kalam Academy, Sikar | Jaipur
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= %mﬂmﬂﬂﬁw%,ﬁﬂm&.

87. If 7 isaconstant vectorand v isa closed surface
g oy AT @ T ._._..._.Amxm ds bounded by s then _._ax (axF)ds is equal to
e (o () 2av
'\qo -
) 2av (3) 30 @v
() 3av @y
® (D*-a*)y=coshax &1 RRMe | 88. The particular integral of the differential equa-
8- tion (D" -a)y= coshax is equal to -
p 3 B N
M mnom “ (1) MSEE
2) -—coshax (2) -~ coshax
@ -5 w4 :
3) |m=5nk 9 |m=_upn
-—sinh
(4) - siohax (4) =, sihas
89. change the order of intergation _” _s f(x,y)dxdy
89. [7[/(xy)axdy B 7 ¥ UREH IR WA &
yufb . @y '
= w0 M [Jrxr)ivds
 [[r () e gt )
wad, W3 Sh _ S (xy)dys
) | UL
] @) | [/ (=) dyde
@) [[1=) D&
@ | [/ (uy)dyds
@ [[1) &
Kalam Academy, Sikar | Jaipur Page # 26

AN e U,,,-7U,, +10U, =124 yation
” 2 | .. & | 90. The solution of difference ©9
N U,,-70,, +100, =124" is-
v, = (-2)" +¢,5' - 64"
- (1) U, =¢,(<2) +¢,5" - 64"
—e 2" ' . €L -~ \9
() U, =¢.2"+c, 5" +6.4 ¢ -3 Q U, =62 +¢,5 +64'
(B) U, =2 +ey(=5) + 64" B) U, =¢.2" +¢,(-5)" + 64"
4) U, =¢.2" +c,.5" =64" @ U, =c 2 +c,5" -64'
= 91 _ It
91. _% TR E - - Jarp isequalto-
0
0 & »
B(m,n)
) 2) =
@ Nnah..v 27 b

(3) a"b"B(m,n)

(4) 2a"b"B(m,n)

(3) a"b"B(m,n)

(4) 2a"b"B(m,n)

: 92. The value of integral [ (1-x)"" dx s -
3 M

e £ o
2% %&»ﬂwﬁ M 3
@) 125 L™ E_uﬂ“
) " ﬁ: ]
@ 025 v ® 3

t i T E

% s 10d
x e oY1
ox L Vs
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ew...m,.?ﬂﬁﬁ A
4 R g W Erer v e

& v o e e

1
M3 @3

o e

4. T R Ry @ JN & 9H e &

el
_1 N
.:u.llm H__I_..l..
1

@ =il et
% =] g 2N
(3) *eei 2| % %,

N

(@) By =X+ =

95. 3x+2x,+x +4x,=6

bx, +x,+2x,+8x, =15 B Eﬁ W
gl

g 3
()4
3)5

(4)6

93. By substituting which value of » in the general
quadrature formula, we get Simpson's one-third

law?
1
M3 @3
31 @2
94.  Which is formula of find /N by newton Raphson
method.
.
Aﬂw n+l N n H._
1 N
@) % =5| % +L
[ N
@) T =5 %"
N

= -+ —_
Ahv Xnat Xn x

95. Number of basic solution of 3x, +2x, +x; +4x, =6
6x, +x, +2x; +8x, =15are.
13
(24
(3)5

46

Kalam Academy, Sikar | Jaipur
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i o

\

g6, ft 3 ¥ STE W=

\\\\\\i
(1) $={(=y)15 +y* =} =< /
@ §={(xy)lysea+y <y}
@) S={(x»)w<Lxy20)

4)S={(xy)ly-25-x"xy20}

NS o 2

97. mxn URTET W H YU SO B 2
oz

,\aﬂﬂm PRGB < (m+n-1)
@ R TSI >(m-+n-1)
O R DB =401
@) R PRSH > (m+n+1)
98, nRIH m WG (m<n) T EBRIG 41,

A g far e & @ Hfgd gt femm 2R
&1 e g 2|

\eo?&uniuwvus
() p(4)=p(4:B)<m
3 nTvunT#S

@ T ¥ B T

/
?

96. Which is convex set in following.
(1) S={(xy)1 2 +5*=1)
@) S={(xy)lys 2.2 +y <1
(3) S={(xy)lwsLxy20}

?&hn“T‘_E_.‘lmmiﬁa.wwc“

97. Degeneracy arises in the transportation problem
if

(1) Empty cells <(m+n-1)
(2) Empty cells > (m+n-1)
(3) Empty cells =m+n-1

(4) Empty cells > (m+n+1)

98. The condition that there exists a unique solution
of a system of equations m in n variables (m <n)

expressed by 4x =

() p(4)=p(4:B)=m
@) p(4)=p(4:B)<m
(3) p(4)=p(4:b)

(4) none of these

Kalam Academy, Sikar | Jaipur
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o ————————

(1) x+y+a=p QWEV@WW
(2) x-y-a=0

() 2x-3y-a=0

@) x-3y+a=0

B ¥ S T whwr Rewm & o g
3 A g & & o wen @1 -

(1) BTE TH YA &l Remr &
() gaTa & faegm @ @
(3)FH | BH U6 GEId 8ol fdad 8|
(4) 3aRag &t
101. 71 % & s 21

MN

L —
(e |_+a

2-A

LY oy

(3) ub mw?é

vV A
g&qlwlm

99. The wm,uﬂaaam of ¥4y -Jay=0is.
(1) x+y+a=0
(2) x-y-a=0
(3) 2x-3y-a=0
4) aw&inno

100. Ifthe base matrix p ofa linear programming prob-
lem has a non-zero artificial vector and the con-
ditions of optimality are also satisfied, then the

problem's -

(1) Only one feasible solution will xist.

(2) The consistent solution will not exist.

(3) There will exist at least one feasible solution.
(4) unbounded solution

101. Which of the following is false?

2

2 _ —
() w=1+7

28
@ ¥ a

() 5 =3(8+7)

vV A .

@TTM-«. .@\i&pﬁ
qarfm:_\«w
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/

—I
2. T H-R=3ERIAEL G

\Qe_x_.uu.xuv TR &~
) 8°7w)

@ 381
|

) ME (%)

@) wa\ (%)

103, AT y* =4ax DI T GRT et 7
R e Y @ W TR v €| 79

BN T AT 87 o v»c,psf

) RS
tan 2

im na ﬁm
= @5
@u
&)
3 dna’ 4 4nd’ —
3= @)=

104. G={(a,b)|b=0,a,bR) WAl

?,S.An_nwu?.;.o\.@&mw m..Z ™ § T 9
(a) P19l @ -

(1 ﬁw

ot

o (-23)

ot

\

then
% ..nouwnnu -n=x"5

k|
S (%, %,%,,x,) is equal to-

102, When

(1) ME (x)
) W;i
) 3870%)

@ 20°75)

103. The part ofa parabola y* =4ax cut offby the nor-
mal rotates about the tangent at the vertex. Then
the volume of the solid generated is?

3 )
== =
B aaun ’ @ ﬁ

104. G={(a,b)|b=0,a,b<R} is the group for Opera-
tion (a,b)*(c,d)=(a +be,bd)

then the inverse of element (a,b) is -

ol s

o) e()
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.
Ewﬁmﬁhﬂmﬂ%ﬂﬂugi.ﬁﬁmm&
TS 7 P STY § 7@ D AR 2
AT e u F
214
(3)49

ORI R -

106. ¥ FUF §

1. P Wt ¥ daa (z,+) W 9 21

2.7 o(G) ¥ 4y I T R A G T 4

106.

105. The only 3 subgroups of a cyclic group are 1, it-

self and a subgroup of order 7. Then the order of
the group is.

m7

14

3)49

(4) cannot be determined
True statement is

1. There is only (Z,+) cyclic group in the stan-

dard sets,

P HT ITYY e B 2. If o(G) divides 4, then G is a subgroup of
order 4.
3. W e & wa B i @ A
e 21 &) 3. The order of the smallest non-commutative
il . group of odd order is 21.
4. A W & Rdm 9w U @ foy a )
AME v 4. The converse of Lagrange's theorem is true for
cyclic groups.
4
\3 b 1,2 4
22,3, 4 @23 4
X
(31,3 4 ()1, 3, 4
“ £
1,23 41,23
1 A
,%\, 3¥H wp; o
Wfopp ™
Kalam Academy, Sikar | Jaipur Page # 32

2

U Pife

mq_.mﬂmm HK nﬁmﬁ.&mﬂuﬂuﬂﬂgWI

m\%»

)48

D\A%w = W
g

® 12
@6
_QW. .ﬁ.w »\%\N._th Ql@-:.w c ﬁmﬂdw. 9 MHEHN.

22 o b
'R pos BT AM & —
(1) —(xlogx)”

(2) (xlogx)

é ~(xlogx)
@ FT ¥ g T

109. B A9 TR 7 el Y 2|

——

\

107. Hand x are subgroups of oder 6 and 8 1%
tively, then the minimum number of elements 2
the product group g is -

(24
(2)48
3)12
6
108. If x*y"z* = c, where c is constant then value of %W
at x=y=z,
(1) ~(xlogx)™
L (e
(3) ~(zlogy)

(4) None is there.

109. The polar form of the Cauchy Riemann equation
is

Ewwu-w. d .W!W
@ 5 n mi 22
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e — .

—_—
1
110. eum_omTw.v‘-mv I ww .n W
an
() log(ss )4 JA LIRS |
ﬁ y v+ wg;\ N fv\ﬂ\f!, u

2 A :
@ (3]s N 3

\
& 2
%\Q\Ium ANV Iﬁlw_ \

@ Ty e
L ) - ge v ¥

()4 38

113. SH@ROT 4, 5, +1,5, =0, &1 el §,=0,5,=0 &
AfeSE | eI el el @ Rl &1 Freid

N ?uw_c T: J.
110. The harmonic conjugate of #=27T0B{x +)") 1s

(1) _omT“ +\<JI.

@ E._E:
y

(3) tan” hwu:

(4) tan™ Ann +y! v+n

1 -
:_.mgﬁ_soé%% %T& L %m%l:.

) -7 @ =

r r

) - @ o

112. The number of subgroups of a multiplicative

group G = ?_aw.au...zhm nw_ is
(H3 22
(3)4 48

113. equation A S, +2,S,=0, is not represent a sphere

8 el 2 afy i Al passing through intersection of two sphere
» ® 5,=0,5,=0if.
Sv h=-1 @) ) =-1
(1) 4 =-1 @) A, =-1
@) =1, (@) 2, =1, .
e " Xad (3) & =, @) =1,
I Rt
\
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hal

. K @ 7 ST o )
gl

)

115, 9 (v} T x5=Vlx,=f1e3 @
g T B Y B
e W

(1) ¥*-x-1=0
(2) ¥ -x-2=0
(3) ¥ -x-7=0

(4) ¥ -x-5=0

:@.nmﬂﬂnﬁﬁﬂﬂcmml
_9< = 2g (W T Foroe ¥ TeRE)
(2) v?=2/g(mra Y Frzar & TevE)
(3)v*=2g (e & foram @ TeE)
@v:=2/g (I T At e)

\
[14. What is number of value of K such that ¢t cosy i
harmonic function.
ml
20
32
OK:
115. The limit of  sequence {x.} where

5 =25, =|2+x, is convergent to oot of which

equation. .
(1) #-x-1=0
@ £ -x-2=0
() #-x-7=0
@) ¢ -x-5=0

116. The velocity of projectile at time t is v then
(1) v =2g (depth of projectile from directrix)
(2) v2=2/g (depth of projectile from directrix)
(3) v=2g (depth of projectile from directrix)

(4) v*=2/g (horizontal component of projectile
velocity)
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e S UG

_:.Mwﬂsgﬁgﬂ%qﬂﬂﬁzﬂmﬁ@
mﬂm:w_m_d n wﬂﬁd@mm::&mﬂqmr
TR T B qRalt a7 g &

L

t'V..QVy\
O @2l % ,
n :N—}Lv\w w\\u;
- o
A\O\D\kuﬂ §=W~+m m\w‘m“

18 TP B TS S =dasing ¥ T A I v Y

W. T ¥ T T WROT 2
T
v’ cosy k
™ 4a @ 4asiny
3 v i
@ 4acosy “) P

119. U $UT HaAER: SR 3 AR BF o6 £ T
A SER] GRS 98 4 %ﬂﬂﬂ%%m 2l

9 & —

o S,

(3) 2g(r, +1,)

120, ST TR sinx 2 +3y=cosx BT T
&k -

U |
M ns_@

©) sxxﬁ]

3
%t

\I}/

) gty

@) T | B &

-

117. A particle starting from rest moves With a constap
acceleration. Then the ratio of the a_.é.:nm. Covered
by the particle inn th second and n second is,

m-y
2l e
2 1 £ =
(1) S+ @3 &
“n
21 2A
®) =7 @

118. A particle moves in a cycloid § =dasiny with 3
uniform velocity v then its acceleration s

2

V2 cosy v
M e @ dasiny
W Vo
G 4acosy @ ﬂm_e_\

119- A particle is thrown vertically upwards. Ifafter 1, and
1, second it is at the height h, then the value of h.

m Wwa} (2) gytt,

(3) 2g(1 +1,) (4) None of these
120. Is the integraing factor of the differential

ti usa@.& =cosx
equation & Y .

ol )

oely) ol

)
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R,: BT THAE STHH 6T I )
aftrgd il 81 T4 Wl B

(1) R,k @) R, &,

() &, (@) P

F

12, [[5ids w1 am @ wef gw 5 mar

=)
<

2+yi+i=a |
(1) 3d
@ §ne
B3) 4na’

LA

121.

122.

123.

. ets is
R,: The arbitrary intersection of open $
always an open set.

: an
R, : An arbitrary union of closed sets 1S always

closed set.

t
R,: (R+.) is a complete ordered field but 1°

an Archimedean field.

R, : The monotonic increasing sequence 1S always
ich is true.
converges to the supremum. Then which is tru

(1) R, R, (2) R,.R,

(3) R, (4) None of these

+......is conditional convergent

1) p>1 () p<1

(3) o< P<1 @ p>1

|~

The value of _. A ds where surface S is sphere

s

-

MN+\<N+N~nn~.
r >

}
() e
@ 35

(3) 4na’

“@o
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126.

h gl

1

3% Q) _mu
(logx)*

O @

W O R fvarda <1 aq peg qur p-0 @
T B 0 w%ﬁﬁgﬁf

IS
\T/
=
n

1 logx
s @ 3%
5 logx
ot U

125. The angle between two forces P+Q and P-Q acting
ata pointis 20 and if their resultant makes an angle

I AT R F P,
e @ o 81 g with the bisector, then the value of 7 is.
(%] & ' 0

1) = 2 0 =
@ ora tanf 2 cotd
M e @
sinf
3) — omb
©) Saa @ 50 o

% AN A T R 05 €2 D 06 AR W w
qu qES} o o § A e FY ¥ SHe
B T GO B A HAL: x AT g 8 T4 BE
Y | T9F 8|

sina

126. A person carries a weight w tied to one end of a pole
on his shoulder. If the distances of his hand and the
weight from his shoulder are x and a respectively,

then the weight on the shoulder will be.
2
(%) s fAadns ) #{1+2)
E:.?L ?&%%&ES&& ﬁ aw
a (Jad) Ank| - @ ) Ve
] N
(3) ATWV P&EW\I ; _ YSUQL:\G\?
(-aTagimiot odfez] "y
w142 Yoo @&f? w)Oo) 0@.\%
= fpop @ AI& v
Bange [\
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1. aﬁ%ﬂ%%%ﬁﬁiﬁ%
o g

(™ (+2) wor (1)

pull)  wely

128, T r=F(8) TIYTR NG =g To-p

Reg &% ©
i

B
wmJ[F@®

129, W% RAfAG =Hg W GBI e 2|
(1)(z+)
@(2+)

(3) (R.+)

,\& (Ry»x)

127, 1f the three tangent plane of an right circuler ©

128.

129.

oné are

perpendicular, the semi-vertical angle will be.

(1ytan™ (2) @)cor™ (V)

o (%) (%)

The area bounded by the curve r = (8 ) and the polar

lineg =« and® uw is

Ew [F(o)Je
) Nw [F(e)]a®
6) m? @] @

0) w [F@e

Every infinite cyclic group is isomorphic to.
((z+)

@(2.+)

(3) (R+)

@) (R,x)
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130 5 S ! :.Ll»xfo. dﬁﬁﬂﬂ@ﬂawmﬂq

fG)=x T s
4 \Aa‘ﬁﬂqﬂw_

1
U @16

4 64 (4)64

131 I i T R s sisor v & SEEEE
w12

(1) T=Ye Teaay
(2) TEWvES TEEay
() O== WiveT gEEay
(4) SHTITEE FeHay

132. e =i wpta & Ge Y § gel U ¢

\,~vawm,_dmﬂmﬂ¢mm.%%§w_
(2) T & SR AT i e §

(3) 7 gr Pt T8 fRl 1 WA § qEiAE

T

(4) TG T S A F

130, Let there be f:(1.) 2 (R is 2 homomorphism
and \»._VHM then 545__:0 O»,‘Aaw
. L)

| o)
& Q16
UTs

l
LS 4)64
3) @

131. The correlation of the algebraic branch of mathematics

with the arithmetic branch is called?

(1) Co-lateral Correlation
(2) Multi-lateral correlation
(3) uni-lateral correlation
(4) semi-lateral correlation

132. The correct statement regarding the nature of

mathematics is-

(1) Mathematical knowledge develops from abstract

to concrete.

(2) The scope of generalization in mathematics is

Jimited

(3) Forecasting is possible with the help of

mathematical conclusions,

(4) Mathematics is a rhetorical subject.
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133. %ﬁﬁ%:@ﬁwﬂmmsﬂal%w
(1) SR - STl
éw&i - WERTEE-1]
(3) S T - AT
(4) werege fagr - e

134. Wﬂm@@mﬁ?ﬂnmﬂﬂﬂﬁg%_ﬂmﬂﬁm
e < &7

OkcERED
(2) Tt R
OEEUEREL]

&?ﬁa&%

E.%ﬁﬁ&?aiﬁ%ﬁﬂi
fafyr 22

(1) faveram fafy
\Qv%@ﬂ??
(3) fme fafy

(4) srgervm fafy

; to the
133. Sort out the incompatible with respect

mathematical treatise and the Ew:_nau:nmuu
concerned?
(1) Aryabhatiya - Aryabhatt-
(2) Siddhanta Siromani - Bhaskaracharya - 1l
(3) Khanda Khadak - Mahaviracharya
(4) Brahmasphuta Siddhanta - Brahmagupta
134. In which of the following initiatives, diagnosis and
treatment are given prime importance?
(1) Linear programming
(2) Branching programming
(3) Mathetics programming

(4) Computer aided Instruction

135. Which is the most important method for proving

theorems in geometry?
(1) Analytical method
(2) Project method
(3) Deductive Method

(4) Heuristic Method
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136 355 3 g e e
._gﬁ.—&lﬂ.@b—s_gw_:

(1) ¥. ETR o S
(2) weTem Tt

(3) ¥ A9

(4) . g R

137. NCF 2005 % e el ¥ nfor firewr 1 7ot e
igishl
=3

(1) == =l 3% qA
(2) =i =1 fa=m whirn =1 niorgeo s
(3) I=dl = 7o = = T A

(4) o=l = SreArgET i e

138, mifore W@t == e H & i R A

wfew?

(1) Fgnet Y Afge oy @t
QD@ wEm AT g

(3) faenet =t sfvsfs =1 @m

(4) fareqefl ot e T wiferes t e @ S

136.

137.

138.

Pointing out the importance of 3 e 500 sl

that- "The teacher is the soul of the school.”

(1) Pt. Jawaharlal Nehru
(2) Mahatma Gandhi

(3) Amartya Sen

(4) Prof. Humayun Kabir

According to NCF 2005, what is the main goal of

teaching mathematics in schools?

(1) To give knowledge of numbers to children

(2) Mathematizing the thought process of children
(3) To give practical knowledge of mathematics to
children

(4) to teach useful mathematics to children

Which of the following should not be the basis for

selection of Mathematics curriculum?

(1) Attention to the mental age of the learner
(2) emphasis on rote learning
(3) Attention to the interest of the learner

(4) Attention to present and future needs of the learner
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139, &S F) T WIS Ao 6 I TR/ & waf
7 &7

(1) forendt % & 3 =t =

e

Em&ﬂﬂﬂﬂﬂ%ﬂm.@%%ﬂg

(3) e it 2 fne T e s e

\é\ﬂﬂxﬂm%mﬂwmﬂﬂmﬂa
-

140, wrarraen faft gra Frerel an fagr=il ot wom e i @

o el T foe o 2

(1) w38 A3

—

\&

3)ywm

(4) e vt

141, Tiforer for & e S o S SPiR) ST @) siepoR
it
Hram & e fean s 37

(1) wiasmemeft
() sfearfi
(3) Ferramfear ufim

(4) Teuatfoman wfea

e—

139. The preparation step of Herbert's five stepped lesson

140.

141.

plan is not related to -

(1) To check the previous knowledge of the student
(2) Relating new knowledge to previous knowledge
(3) Creating curiosity through new experiments Of
activities

@ nons»_..aon between previous knowledge and new

knowledge

Which of the following is not used in the creation of

laws or principles by laboratory method?
(1) Direct experience

(2) Examples

(3) Experiments

(4) Concrete objects

In the subject of mathematics, 'Taylor frame' is used
to teach arithmetic to which children?

(1) Talented
(2) Blind
(3) Suffering from dyscalculia

(4) Suffering from dyslexia
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A
(2) e e
(3) =reater e o
(4) P i o

143, freferfan # @ reafien v v foeem § g e
T IR F A A @ 9w’ v @ s @
i fafly %2

\gg
2) Frmerress fafy

(3) wamemen fafy

(4) wfEe faf

144. T fafy & et 3 @ it fvegor o1 o o et e
#?

éﬁ@%ﬂ

142,

143.

144.

Which of the following is the most effective _3:._5m
ic

id according to Ega" Dells Experience Cone' baseq
aidac

dio-visual aids for multisensory instruction?
onau

(1) Field trip
(2) Dramatic participation
(3) Real direct experience
(4) Contrived experience
Which of the following is the best method of teaching

the topic 'Getting paint done in the school and finding

out the cost of painting at the secondary level?

(1) Inductive method
(2) Deductive method
(3) Laboratory Method

(4) Project Method

Which of the following teaching method is not

applicable in deductive method?
(1) specific to general

(2) subtle to gross

(3) from unknown to known

(4) from rule to example
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(45, wdafigm s fafir (Supervised Study Method) %
e FA 87

(1)

(2) it wefeer i
@) FRA R

4) 3,

146, Vo W B ¥, S W Wi afa: fran
ey ¥ e ¥ | TR % e ¥ 7 forem e

(2
(1) St forarst
). TR

et

(4) A TS
147, sreech; 98 3 T i qeeion T 87
(1) Sveifey wiem (2) v wigm
(4) e e
148, wres Wi Afen womet  Hfen gt &2

(3) &= e

(1) wmg
.A\:,u_%

(3) 9y 7 Py

(4) Wiy =1 Py

145, Who is the originator of supervised study method
(1) Morrison
(2) Daisy Marville John
(3) Lawrence Stolluro

(4) E. Armstrong

146. ‘The child is a learner who learns in the form of socio-
cultural interaction.” Who has this view regarding

constructivism?
(1) Jean Piaget
(2) J. brunner

(3) Vayugotsagi

(4) Von Glaserfield

147. Isn't there a technique to evaluate the affective

domain?
(1) Achievement Test ~ (2) Aptitude Test
(3) Interest test (4) Value test

148.  Grading takes place in a Criterion Referenced Grading
System?

(1) Relative
(2) Absolute
(3) relative and absolute

(4) relative or absolute
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145 T 6 1 sl s oy e -
(1) s
(2) srat
(3) sfedm
(4) ST

150.  RCEM 9rms  firero 35 svii o foret sl & anfiapa

foran man 2

@)4 @S5

=

149.

150.

Which one is not 3 tyPe of comprehension objective

of cognitive domain?
(1) Translation

(2) Interpretation
(3) Extrapolation

(4) Generalization

Into how many parts are the objectives of teaching
classified in RCEM approach?

13 )6

Q)4 (OB
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